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¶ß±Ó¬fl¡ ¬Û±Í¬Sê˜  ( B.D.P.) 
ø˙é¬±¬ı¯∏«±ôL ¬Û¬ı˛œé¬±  ( Term End Examination )  

øÎ¬À¸•§¬ı˛, 2014 › Ê≈√Ú, 2015 

¬ı̨¸±˚˛Ú ( Chemistry ) 
‹ø26√fl¡ ¬Û±Í¬Sê˜ ( Elective ) 

¤fl¡±√̇  ¬ÛS ( 11th Paper : Organic Chemistry-II ) 
¸˜˚̨ – ≈√̋ ◊√√ ‚KI◊±¬  Û”Ì«̃ ±Ú – 50 

Time : 2 hours Full Marks : 50 
[ ˜±ÀÚ¬ı˛ &èQ – 70% ] 

Weightage of Marks : 70% 

¬Ûø¬ı˛ø˜Ó¬ › ˚Ô±˚Ô Î¬◊M√√À¬ı˛¬ı˛ Ê√Ú… ø¬ıÀ˙¯∏ ˜”˘… Œ√›˚˛± ˝√√À¬ıº 
’qX ¬ı±Ú±Ú, ’¬Ûø¬ı˛26√ißÓ¬± ¤¬ı— ’¬Ûø¬ı˛©®±¬ı˛ ˝√√ô¶±é¬À¬ı˛¬ı˛ Œé¬ÀS Ú•§¬ı˛ 

Œfl¡ÀÈ¬ ŒÚ›˚˛± ˝√√À¬ıº Î¬◊¬Û±ÀôL õ∂Àùü¬ı˛ ˜”˘…˜±Ú ¸”ø‰¬Ó¬ ’±ÀÂ√º 
  ø¬ıˆ¬±· - fl¡ 
1º Œ˚-Œfl¡±ÀÚ± ≈íøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 10 × 2 = 20 
 [fl¡] [’] Œflv¡±À¬ı˛±À¬ıø?Ú ¤¬ı— 2, 4-Î¬±˝◊√√Ú±˝◊√√À¬∏C±Àflv¡±À¬ı˛±À¬ıø?Ú 

Œ˚Ã· ≈√øÈ¬¬ı˛ ˜ÀÒ… Œfl¡±Úƒ Œ˚ÃÀ·¬ı˛ Œflv¡±ø¬ı˛Ú ¬Û¬ı˛˜±Ì≈ 
’øÒfl¡ ¸øSê˚ ̨¤¬ı— Œfl¡Ú ∑  

 [’±] ¤fl¡øÈ¬ ¬Û¬ı˛œé¬±ÚÀ˘ 5 ø˜ø˘ø˘È¬±¬ı˛ Œflv¡±À¬ı˛±Ù¬˜« Œ√›˚˛±    
√̋√̆ º Œflv¡±À¬ı˛±Ù¬À˜«¬ı˛ Ú˜≈Ú±øÈ¬ ø¬ıqX øfl¡Ú± fl¡œ fl¡À¬ı˛ 

¬ı≈Á¡À¬ıÚ∑ ˚≈øMê√̧ √̋√ Î¬◊M√√¬ı˛ ø√Ú ¤¬ı— õ∂À˚˛±Ê√Úœ˚̨ 
¬ı˛±¸±˚˛øÚfl¡ ¸˜œfl¡¬ı˛Ì ø√Ú º 5 + 5  

 [‡¡] [’¡] ’¬ÛÚ˚˛Ú ø¬ıøSê˚˛± fl¡±Àfl¡ ¬ıÀ˘ ∑ Î¬◊√± √̋√¬ı˛Ì ø√Ú ¤¬ı— 
¬¬ı˛±¸±˚˛øÚfl¡ ¬¸˜œfl¡¬ı˛Ì ø˘‡≈Ú º   

 [’±] Œ¸˝◊√√È¬ÀÊ√Ùƒ¬ ø¬ıøSê˚˛± ¤¬ı— √̋√Ùƒ¬˜…±Ú ø¬ıøSê˚˛±¬ı˛ ˜ÀÒ… 
¬Û±Ô«fl¡… fl¡œ ∑ Î¬◊√± √̋√¬ı˛Ì ø√À˚̨ ¬ı…±‡…± fl¡èÚ º 5 + 5  

[·¡] ◊̋√√¬Û'±˝◊√√Î¬ ¬ı˘ÀÓ¬ Œfl¡±Úƒ Ò¬ı˛ÀÚ¬ı˛ Œ˚Ã· Œ¬ı±Á¡±˚˛ ∑ Î¬◊√±˝√√¬ı˛Ì   
ø√Ú º ◊̋√√¬Û'±˝◊√√Î¬ õ∂døÓ¬¬ı˛ ≈√øÈ¬ ¬ÛXøÓ¬ ¸˜œfl¡¬ı˛Ì¸˝√√ ’±À˘±‰¬Ú±      
fl¡èÚ º ¤À√¬ı˛ ¬ı…¬ı˝√√±¬ı˛ ø˘‡≈Ú º 5 + 5 

[‚] ¸—øé¬5 Î¬◊M√√¬ı˛ ø˘‡≈Ú – 

 [’] ·…±ø¬ıËÀ˚˛̆  Ô…±ø˘˜±˝◊√√Î¬ ¸—Àù≠ ∏̄Ì 

[’±] Œflv¡ÀÊ√Ú ‚Úœˆ¬¬ıÚ ø¬ıøSê˚˛± 

[ ◊̋√√] ˜± ◊̋√√Àfl¡˘ ø¬ıøSê˚˛± 

[÷] ¸…±`¬˜±˚˛±¬ı˛ ø¬ıøSê˚˛± º 2
  

! 

1

2
 × 4 

ø¬ıˆ¬±· - ‡ 

2º Œ˚-Œfl¡±ÀÚ± øÓ¬ÚøÈ¬¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 6 × 3 = 18 

[fl¡] ¸…±ø˘¸±˝◊√√ø˘fl¡ ’…±ø¸Î¬-¤¬ı˛ ¬ı±øÌøÊ√…fl¡ õ∂døÓ¬fl¡¬ı˛ÀÌ¬ı˛ ¤fl¡øÈ¬ 

¬ÛXøÓ¬ ’±À˘±‰¬Ú± fl¡èÚ º ø¬ıøSê˚˛±¬ı˛ fl¡˘±Àfl¡Ã˙˘ ø˘‡≈Ú º 6 

 [‡] ¬Û¬ı˛œé¬±·±À¬ı˛ õ∂±˝◊√√̃ ±ø¬ı˛ ’…±ø˜Ú ¤¬ı— Œ¸Àfl¡`¬±ø¬ı˛ ’…±ø˜Ú 

˙Ú±Mê√fl¡¬ı˛ÀÌ¬ı˛ ¬ÛXøÓ¬ ’±À˘±‰¬Ú± fl¡èÚ º õ∂À˚˛±Ê√Úœ˚̨ 

¬ı˛±¸±˚˛øÚfl¡ ¸˜œfl¡¬ı˛Ì ø√Ú º  6 

 [·] ¬ıv…±Ç ¸”SøÈ¬ ø˘‡≈Ú ¤¬ı— Î¬◊√± √̋√¬ı˛ÀÌ¬ı˛ ¸±˝√√±À˚… ¬ı…±‡…± ø√Ú º 

¬ıv…±Ç øÚ˚˛À˜¬ı˛ ¤fl¡øÈ¬ ¸œ˜±¬ıXÓ¬± ø˘‡≈Ú º  6 

 [‚] ∆Ê√¬ı Œ˚Ã· ¸—Àù≠ ∏̄ÀÌ ø¢∂·Ú±Î«¬ ø¬ıfl¡±¬ı˛fl¡ ¤¬ı— ∆Ê√¬ı ø˘øÔ˚˛±˜ 

ø¬ıfl¡±¬ı˛fl¡-¤¬ı˛ ˜ÀÒ… ¬Û±Ô«fl¡… ø˘‡≈Ú ¤¬ı— Î¬◊√±˝√√¬ı˛Ì ø√Úº 6 
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[„√√] [’] øÙ¬Î¬◊¬ı˛±Ú ’À¬Ûé¬± ŒÈ¬¬∏C±˝√√±˝◊√√ÀE±øÙ¬Î¬◊¬ı˛±ÀÚ¬ı˛ ø¡ZÀ˜è 

w±˜Àfl¡¬ı˛ ˜±Ú Œ¬ıø˙ º ¤¬ı˛ fl¡±¬ı˛Ì fl¡œ ∑ 

 [’±] øÚÀ‰¬¬ı˛ ø¬ıøSê˚˛±˘t [ A ] Œ˚Ã·øÈ¬ ˙Ú±Mê√ fl¡èÚ – 3 + 3 

   

[‰¬√√] O-’…±ø˜ÀÚ±ÀÙ¬Ú˘ ŒÔÀfl¡ 8-˝√√±˝◊√√Eø' fl≈¡˝◊√√ÀÚ±ø˘Ú fl¡œ Î¬◊¬Û±À˚̨       

¸—Àù≠ ∏̄Ì fl¡¬ı˛À¬ıÚ ∑  ø¬ıøSê˚˛±¬ı˛ ¸˜œfl¡¬ı˛Ì ø˘‡≈Ú º 6 

   ø¬ıˆ¬±· - ·¡ 

3º Œ˚-Œfl¡±ÀÚ± ‰¬±¬ı˛øÈ¬¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 3 × 4 = 12    

 [fl¡¬√√] ◊̋√√Ô±À¬ı˛¬ı˛ Œ|øÌø¬ıˆ¬±· fl¡èÚ ¤¬ı— Î¬◊√± √̋√¬ı˛Ì ø√Ú º 3 

 [‡¡¬√√] ø¬ı˛Ù¬¬ı˛˜…±Èƒ¬ø¶® ø¬ıøSê˚˛± fl¡±Àfl¡ ¬ıÀ˘ ∑ Î¬◊√± √̋√¬ı˛Ì¸˝√√ Î¬◊M√√¬ı˛ 

ø˘‡≈Ú º 3  

 [·¡¬√√] ¬Û¬ı˛œé¬±·±À¬ı˛ ’…±ø¸È¬±˝◊√√̆  ’…±ø¸ÀÈ¬±Ú Œ˚Ã·øÈ¬ fl¡œ 

Î¬◊¬Û±À˚˛ ¸—Àù≠ ∏̄Ì fl¡¬ı˛À¬ıÚ ∑  ø¬ıøSê˚˛±¬ı˛ ¸˜œfl¡¬ı˛Ì ø√Ú º3 

 [‚¡¬√√] ¬ø¬ÛÀ¬ı˛±˘ ¤¬ı— ø¬Ûø¬ı˛øÎ¬Ú-¤¬ı˛ é¬±¬ı˛fl¡˙øMê√¬ı˛ Ó≈¬˘Ú±     

fl¡èÚ º 3  

 [„√√¡¬√√] ø¬ıøSê˚˛±˘t Œ˚Ã·øÈ¬¬ı˛ ·Í¬Ú ¸—Àfl¡Ó¬ ø˘‡≈Ú – 3 

    

 [‰¬¡¬√√] ’…±˘Àfl¡±˝√√̆  ’À¬Ûé¬± ŒÙ¬Ú˘ ’øÒfl¡Ó¬¬ı˛ ’±ø•°fl¡º ¤¬ı˛ 

fl¡±¬ı˛Ì ¬ı…±‡…± fl¡èÚ º 3  

 [Â√¡¬√√] ø¬ıøSê˚˛±øÈ¬ ¸•Ûiß fl¡À¬ı˛ [ A ]  ¤¬ı— [ B ] ˙Ú±Mê√   

fl¡èÚ – 3 

   

     

 [Ê√¡¬√] ∆Ê√¬ı ¬ı˛¸±˚˛ÀÚ øÚÀ‰¬¬ı˛ ø¬ıfl¡±¬ı˛fl¡ ≈√øÈ¬¬ı˛ ¬ı…¬ı˝√√±¬ı˛ ø˘‡≈Ú 

¤¬ı— ¬ı…±‡…± ø√Ú – 3 

  [’]  

  [’±] 
  

! 
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( English Version ) 
Special credit will be given for precise and correct 

answer. Marks will be deducted for spelling 
mistakes, untidiness and illegible handwriting. 
The figures in the margin indicate full marks. 

Group-A 

1. Answer any two questions : 10 × 2 = 20 

A) (a) Which chlorine atom in chlorobenzene 

and in 2, 4-dinitrochlorobenzene is 

more reactive and why ? 

 (b) 5 ml of chloroform is given in a test 

tube. How would you know that the 

sample of chloroform is pure or not ? 

Write answers with arguments and give 

necessary chemical equations. 5 + 5 

B) (a) What is an elimination reaction ? Give 

examples and write chemical equations.  

 (b) What are the differences between 

Saytzeff reaction and Hoffmann 

reaction ? Explain with examples. 5 + 5 

C) What types of compounds are known as 

epoxides ? Give examples. Describe two 

methods for preparation of the epoxides with 

equations. Throw light about their uses.  

    5 + 5 

D) Write short answers :  

 (a) Gabriel phthalimide synthesis 

 (b) Claisen condensation reaction 

 (c) Michael reaction 

 (d) Sandmeyer reaction.  2
  

! 

1

2
 × 4  

 

Group - B 

2. Answer any three questions. 6 × 3 = 18 

A) Discuss a process for  the commercial 

preparation of salicylic acid. Write 

mechanism of the reaction. 6 

B) Discuss one method for identification of 

primary and secondary amines in the 

laboratory. Give essential chemical 

equations. 6

 
C) Write the Blanc Rule and give explanation 

with examples. Write one limitation of the 

Blanc Rule. 6 

D) Write the differences between Grignard 

reagents and Organolithium reagents for 

synthesis of organic compounds and give 

examples. 6  
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E) (a) The dipole moment of tetrahydrofuran 

is greater than that of furan. Why ? 

 (b) Identify the product [A] obtained by the 

following reaction : 

   3 + 3 

F)  How would you synthesise 8-hydroxy 

quinoline from ortho-aminophenol ? Write 

equation for the reaction. 6 

 

Group-C 

3. Answer any four questions : 3 × 4 = 12 

 A) Classify ethers and give examples. 3 

 B) What is Reformatsky reaction ? Write 

answer with examples. 3 

 C) How would you synthesise acetyl 

acetone in the laboratory ? Give 

equation for the reaction. 3  

 D) Compare the basicities of pyrrole and 

pyridine. 3   

 E) Write the structure of the product :  

       
   3  

 F) Phenol is more acidic than alcohol. 

Explain the reason. 3 

 G) Identify [ A ]  and  [ B ] after completion 

of the reaction : 3 

   

     

 H) Write the uses of the following two 

reagents in organic chemistry and offer 

explanations : 3 

  (i) 

 

  

(ii) 
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